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	20 - 15 = ?

(20 - 10) - 5 = ?

10 - 5 = 5

20 - 15 = 5
	100 - 48 = ?

(100 - 40) - 8 = ?

60 - 8 = 52

100 - 48 = 52


· Complète le tableau suivant :


	
	- 1
	- 2
	- 3
	- 4
	- 5
	- 6
	- 7
	

	987


	986
	984
	981
	977
	972
	966
	959

	
	
	
	
	
	
	
	

	599
	598
	596
	593
	589
	584
	578
	571

	
	
	
	
	
	
	
	

	708
	707
	705
	702
	698
	693
	687
	680

	
	
	
	
	
	
	
	

	356
	355
	353
	350
	346
	341
	335
	328

	
	
	
	
	
	
	
	

	642
	641
	639
	636
	632
	627
	621
	614

	
	
	
	
	
	
	
	

	890
	889
	887
	884
	880
	875
	869
	862

	
	
	
	
	
	
	
	


· Calcule en colonne :

	5 8

-  3 1
2 7
	8 7

-  2 6
6 1
	6 9

-  5 0
1 9
	9 9

-  3 5
6 4
	4 6

-  1 3
3 3

	
	
	
	
	

	9 4

-  6 3
3 1
	8 8

-  5 5
3 3
	7 7

-  1 7
6 0
	8 8

-  4 0
4 8
	7 8

-  4 8
3 0

	
	
	
	
	


· Pose en colonne et calcule :

	87 - 71 = 16
	68 - 30 = 38
	93 - 62 = 31
	99 - 87 = 12

	8 7

-  7 1
1 6

	
	6 8

-  3 0
3 8
	
	9 3

-  6 2
3 1
	
	9 9

-  8 7
1 2
	

	47 - 31 = 16
	69 - 52 = 17
	97 - 23 = 74
	990 - 9 = 981

	4 7

-  3 1
1 6

	
	6 9

-  5 2
1 7
	
	9 7

-  2 3
7 4
	
	9 9 0

-       9
9 8 1
	


